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



Flûte Accordéon...?

C 
G7   C   

G7    C    
G7    

Harmonisation
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         3 3 3 3 3 3

         
q=120 Più mosso
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
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C  Dm7  C         Bb6   C  

G7      

             



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





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Piano
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




C  C+ Dm7 G7 C     C    Dm7  C          
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               




16 
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Allegretto q=130








Piano
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




Bb6     C


G7     C    C+ Dm7 G7 C     

C F    
3

               
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q=86









Piano
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




G7 C 

F    C G7  
C     Bb6        C 

       

                  

1.





32 2. q=86
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




C    

F  C G7     
F  G7      

C       G7
3 3

                 
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Piano
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




C  Bb6   C 

     
G7 C   

F  C G7     
F  C G7      

3 3          
    

  
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




C     

G7   C     Bb6   C      
G7   C       

3 3 3 3          
    
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



      
      
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